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QUESTION 1

If a user desires a new skill for a Digital Worker, what is the proper manner to acquire it?
A. Discover an application\\'s API.

B. Digitize it withthe Digital Worker Studio.

C. Build the skill with a Skill Toolkit.

D. Utilize the AA Bot Store to download a skill.

Correct Answer: B

QUESTION 2

What Operational Decision Manager index pattern is used in Business Automation Insights out of the box?
A. Decision summaries

B. Time series

C. Flow series

D. Rule summaries

Correct Answer: B

QUESTION 3

What is one of the main functions of User Management Services (UMS) in Cloud Pak for Automation?
A. Administer global teams for Cloud Pak components

B. Certificate management

C. SAML token generation

D. Provide centralized user registry (LDAP)

Correct Answer: A

QUESTION 4
Which of the following is used to generate reports for Bring Your Own Service License (BYOSL)?
A. PassportAdvantage

B. Multi-cloud management license advisor
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C. License Service Tool
D. License Metric Tool

Correct Answer: A

QUESTION 5

Which step helps to check the completeness of license usage data?

A. Log in to the cluster and run the command to check status of any individual product.

B. Check the list of pods from which the License Service might not collect license usage.

C. Check if the License Service was successfully deployed on the cluster by using available tools.
D. Run health checks by the License Service and use the log service to monitor the log.

Correct Answer: C
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